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REGISTRATION NUMBER :
EXAM DATE : 6-July-2017
EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 1 - In the following question, select the related word from the given alternatives.
Farmer : Field : : Painter : ?
frfafea uer 7 Ry 7Q fenedt # @ Hefda e @ gl

fram= . @9 R : ?
Options:

1) Gallery
IEERICIS
2) Stage
Hq

3) Theatre
>) |

4) Shop
GehT T

Correct Answer: Gallery

IEERIGH

Candidate Answer: Gallery
ISERIGH

QID : 2 - In the following question, select the related word from the given alternatives.
Sunday : Thursday : : Wednesday : ?
Frfafea wer 7 Ry 7Q fenedt # @ Hefda e @ gl

AR : AR : : FeEAR 2 ?
Options:

1) Sunday

HEEIN

2) Friday

EheR

3) Saturday

R

4) Monday
HER
Correct Answer: Sunday

Candidate Answer: Sunday
NEEIN

QID : 3 - In the following question, select the related letters from the given alternatives.
MN:OL::SH:?
Frfafea wer 7 Ry 7Q feredt # @ Hefda s1ert & gl

MN:OL::SH:?
Options:

1) VE

2) UF

3) UG

4) VF

Correct Answer: UF
Candidate Answer: UF

QID : 4 - In the following question, select the related letters from the given alternatives.
STOP:TRVT::?:?
frfafea uer 7 Ry 7Q feneat # @ Tefda s1ert &t gl

STOP:TRVT::?:?
Options:

1) MIND : 1QLO

2) HAIL : PLCI

3) SAND : UDHS

4) BANK : CCQO
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Correct Answer: HAIL : PLCI
Candidate Answer: [ NOT ANSWERED |

QID : 5 - In the following question, select the related number from the given alternatives.
48:216::64:?
frafafEa uer & Ry g Rrereat & @ Gefda T ot gihgl

48:216::64:?
Options:

1) 288

2) 276

3) 312

4) 264

Correct Answer: 288
Candidate Answer: 288

QID : 6 - In the following question, select the related number from the given alternatives.
36:27::196:?
fafafEa usr & Ry Mg Rrereat & @ Tefda T ot ghgl

36:27::196:?
Options:

1) 257

2) 89

3) 173

4) 343

Correct Answer: 343
Candidate Answer: 343

QID : 7 - In the following question, select the odd word pair from the given alternatives.

frfafea wer 7 Ry 7Q fenedt # @ fowm <reg g &0t gig)

Options:
1) Speaker — Sound
e - @y

2) Bulb - Light
o — AL

3) Fire — Heat

3T — T}

4) Earth — Land

gt - yf

Correct Answer: Earth - Land
gt -

Candidate Answer: Earth - Land
gt - f

QID : 8 - In the following question, select thé odd wo: n alternatives.

frfafea ner & g 7 Reredt & @ fm 2reg g &l 9iFe)

Options:
1)0Wheat - Rabi

2) Rice — Rabi
Traet — &t
3) Maize — Kharif
R - @H

4) Barley - Rabi
St - &l

Correct Answer: Rice — Rabi
et - &t
Candidate Answer: Barley — Rabi

QID : 9 - In the following question, select the odd letters from the given alternatives.

frafafaa ner & g g et & @ v srert o6t gfg)
Options:
1) GEF

2) MLK
3) IKJ

4) VWY
Correct Answer: VWY
Candidate Answer: [ NOT ANSWERED ]




QID : 10 - In the following question, select the odd letters from the given alternatives.

frafafaa ner & Ry g et § @ v srert o6t gfg)
Options:
1) AEI

2)IMQ
3)EIL

4) MQU
Correct Answer: EIL
Candidate Answer: EIL

QID : 11 - In the following question, select the odd number from the given alternatives.

Frfafea us 7 Ry Q feneat & @ foww g &t gl

Options:
1)15- 45

2)9-29
3)31-93

4)41-123
Correct Answer: 9 — 29
Candidate Answer: [ NOT ANSWERED ]

QID : 12 - In the following question, select the odd number pair from the given alternatives.

fafafEa us & Ry Mo et & @ fwm g gm @t gl

Options:
1)8-72

2)6 - 42
3)12- 156

4)4-12
Correct Answer: 4 - 12
Candidate Answer: 6 — 42

QID : 13 - Arrange the given words in the sequence in which they occur in the di

1. Reputation
2. Reptile

3. Republic
4. Replicate
5. Repository

frfeaa areal ot AreaehieT & S7 aTet A o STHER.

1. Reputation
2. Reptile

3. Republic
4. Replicate
5. Repository
Options:

1) 42531

2) 43251

3) 45312

4) 45231
Correct Answer: 45231

Candidate Answer: 45231

QID : 14 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Habit

2. Habitat
3. Handle
4. Hammer
5. Harvest

ffafEa el @t reaaier § o aret o & SruR ford |

1. Habit

2. Habitat
3. Handle
4. Hammer
5. Harvest
Options:

1) 21453
2) 12435
3) 21435
4) 14253

Correct Answer: 12435
Candidate Answer: 12435



QID : 15 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
B,G,N,W,?
Ten S1gehd foar T g, o € Uk ue g &1 iy 1Y fahedt A © a8 9@l fdened g, St Sigehd &l g el

B,G,N,W,?
Options:

I

2)G

3)J

49HH

Correct Answer: H
Candidate Answer: H

QID : 16 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
B,E1S,K,?
Ten S1eRd foar T 8, Fored € Uk ue g &1 iy 1Y faeredt A © a8 wel fdened g, St SrgehA & gu el

B,E I, S K, ?
Options:

Correct Answer: W
Candidate Answer: [ NOT ANSWERED |

QID : 17 - In the following question, select the missing number from the given series.
67,70,74,77,81,84,?
frfafea us 7 Ry Q fenedt & @ g ofcks 3 AIfSiQ)

67,70,74,77,81,84,?
Options:

1) 87

2) 88

3) 86

4) 89

Correct Answer: 88
Candidate Answer: 88

QID : 18 - In the following question, select the missing number fr
6,19, 54,167,494,?
frfafea us 7 Ry o feedt & @ qu ofck amd

6,19, 54,167,494,?
Options:

1) 1491

2) 1553

3) 1361

4) 1642

Correct Answer: 1491
Candidate Answer: 1491

QID : 19 - In a row of cars, red car is 14t from left and 23™ from right. How many cars are there in the row?
FRI 6 e dfth §, Tt PR a8 @ 14 off qan g @ 23 ff &1 dufvw & fohaft wR &2

Options:

1) 36

2) 37

3)35

4) 34
Correct Answer: 36
Candidate Answer: 36

QID : 20 - In a row of people, there are 12 people before Q. There are 4 people between P and Q. There are 15 people between Q and S. If there are 8 people between S
and R, then how many minimum people are there in the row?

AN A TR IRFE, QA UEA 12 AT EIPIWMQF AAFT AT EI QA S F A F 15 A &1 Al STUTR & Aeg F 8 T §, It ufch & oA T v fohat aoT &2



Options:
1)29

2)32
3)36

4)37
Correct Answer: 29
Candidate Answer: 29

QID: 21 - If 'P 3 Q' means 'Q is daughter of P, 'P 5 Q' means 'Q is son of P','P 7 Q' means 'P is sister Q', 'P 9 Q' means 'P is brother of Q'. Which of the following
expression indicates A is nephew of D?

aR'P3Q A f'Q PHRIGNRE, P5Q waf'Q PHYAE,'P7 Q & 3f'PQHragad,'P 9 Q o aref 'R, Qe ié &' Fefafea & @ e ar wefteneor A &t D ot syefter qarfar
22

Options:
1)B9D5C5A

2)B7D7C3A
3)B7D9C5A

49)B7D9C3A
Correct Answer:B7D9C5A
Candidate Answer:B7D9C5A

QID : 22 - In the following question, select the word which cannot be formed using the letters of the given word.
ENCOURAGING
frfafea faeedt & & a8 g gAY St Y 71 2168 & S18RT a1 TR Shech Tal ST ST HehdT |

ENCOURAGING

v N
Options:
1) GRAIN )
‘\> N o

2) RAGING %
3) GAUGE

4) ENCOURAGE

Correct Answer: ENCOURAGE {/ \\>

Candidate Answer: ENCOURAGE

QID : 23 - In the following question, select the word which cannot be formed usj e rsof the given word.
LANGUAGE

frfafea faeedl & & a8 et gAY St g 71g <1z o s1art &1 waeT @«v

LANGUAGE

Options:
1) SLANG
2) GAUGE
3) GLANE
4) GANG

Correct Answer: SLANG
Candidate Answer: SLANG

QID : 24 - In a certain code language, "RESTED" is written as "SDTSFC" and "POINTS" is written as "QNJMUR". How is "BANNED" written in that code language?

e fAfre e wmur &, "RESTED" oY "SDTSFC" forar SiTdT & 9T "POINTS" &t "QNJMUR" foraT SiTar &1 59 i 9reT & "BANNED" &l fohg e ferar smeam?

Options:

1) CZOMFC
2) ABMODE
3) CZOODE

4) ABMMFC

Correct Answer: CZOMFC
Candidate Answer: CZOMFC

QID : 25 - In a certain code language, "CONGO" is written as "RZPRD" and "TREAT" is written as "UQGWX". How is "PHONE" written in that code language?

U fafre e wrom §, "CONGO" ot "RZPRD" foiar Sirar & aur "TREAT" &t "UQGWX" forar STrar &1 39 ahis umam & "PHONE" @t fohg UrehR ferar saam?

Options:
1) JNQIJ

2) KMQHK
3) MKQKH

4) LLPIL
Correct Answer: KMQHK
Candidate Answer: [ NOT ANSWERED |



QID: 26 -

If “@" denotes “added to”, “#” denotes “multiplied by”, “®” denotes “divided by” and “%” denotes “subtracted from”, then which of the following equation is true?

afg "@" o o1 "SIS" B, "#" T 31f "TUTT" &, "®" T 37f "I & AT %" ot o "aera” §, ot frfaifaa | @ ot wfenvor gl 87
Options:

1)8@8®8#8%8=9

2)42%26®13#2@8 =46

3)19%84®4@3#4=12

4)31%4®@2#19@3=4

Correct Answer: 42 % 26 ® 13 #2 @ 8 = 46

Candidate Answer: 42 % 26 ® 13 #2 @ 8 = 46

QID : 27 - If "A" denotes "added to", "B" denotes "subtracted from", "C" denotes "multiplied by" and "D" denotes "divided by", then which of the following equation is
true?

Ifg "A" T 31 "STS" §, "B" ol o7 "gera” §, "C" ot 31 'O § T "D" &t S "I §, Y e # & i a1 IfteReoT et 87
Options:

1)68D4A6B3C8=0

2)13B6D3C2A5=12

3)72D18C14B68A10=-4

4)12A6B3C4D3=14

Correct Answer: 12A6B3C4D3=14
Candidate Answer: 13B6D3C2A5=12

QID:28-1f6#8=10and 5#12=13,then9#40="?

g 6#8=10qa5#12=138, A 9#40="?
Options:

1) 47

2) 63

3) 41

4) 53

Correct Answer: 41

Candidate Answer: [ NOT ANSWERED ]

QID:29-If 7 (110) 4 and 19 (930) 12, then what is the value of ‘A'in 16 (A) 9?

afg 7 (110) 4 3119 (930) 12 &1, A 16 (A) 9 H, 'A' &I A T 2

Options:

1) 580

2) 600

3) 640

4) 700

Correct Answer: 600

Candidate Answer: [ NOT ANSWERED ]

QID:30-

In the following question, select
which can be placed at the sign of question
mark (?) from the given alternatives.

faFafeiea s # fer arr Raeat 7 ¥ uA
Reg (?) & TIE W 3 arell g&Ar @




Options:
1)84

2) 91

3) 83

4) 95

Correct Answer: 84

Candidate Answer: [ NOT ANSWERED |
QID:31-

In the following question, select the number
which can be placed at the sign of question
mark (?) from the given alternatives.

forafal@a ua & for o et & & o
RIeg (?) & TAE U AT drell HE&AT Al

gfaw|

4 15 12
9 19 F
6 6 3

Options:

1) 105

2)95

3) 190

4)120

Correct Answer: 95
Candidate Answer: [ NOT ANSWERED |
QID:32- A

How many rectangles
figure?

& TS APl F force

Options:
1)19

2)16
3)17

4)18
Correct Answer: 19
Candidate Answer: [ NOT ANSWERED |



QID:33-
How many triangles are there in the given
figure?

Q@ s smgpfa A fobaer g &2

Options:
1)12

2) 11
3)10

4)15
Correct Answer: 11
Candidate Answer: 11

QID : 34 - In each of the following question below are given some statements followed by some conclusions. Ta iven statements to be true even if they seem
to be at variance from commonly known facts, read all the conclusions and then decide which of the give ogically follows the given statements.
Statements:

|. Some clothes are white
Il. Some white are flags.
IIl. No flag is straight.

Conclusions:

1. No cloth is straight.

Il. Some white are straight
Ill. Some flags are clothes. »

13 Ry 77 v v & 3 FU 3R 3 a8 I Ul W SR g ey fig
Mg & ¥ frsend, g T et & SR W gRAdTd &1 é

<hYH:

. S HUS THe &

II. T Tihg 310 &1 \
I11. Y& groeT Hem 78 &

fAreen:

1. g ahureT e e &

II. T Tthe Hid &l

1. & FvE HuQ &l

Options:

1) Only conclusion (1) follows
fsnef (1) welt @

2) Only conclusion (Il) follows

hae fsnd (1) Tgt 8

3) Only conclusion (lIl) follows

et s (Il) 9Et &

4) None follows

ot frsenel @t e &

Correct Answer: None follows

1S ot foreemd @it 7 &

Candidate Answer: None follows

&iE oft e @t e €

QT A1 del F =T gt Gendt &1 oft feend o ofik fhk uffka ax? o fow




QID : 35 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem
to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All pages are yellow.
1. All yellow are newspaper.
Ill. Some newspapers are national.

Conclusions:

I. Some national are yellow.

Il. Some newspapers are pages.
Ill. No page is national.

2 Ry 7y v v & e U SR I T1E 37 AT R AMUTRA F e Ry 71 €, gretifes 38 T wia a2t § e g gt @1 gt e ug 3R R Prerffa o o g
TG & & sy, g 7T et & SR W gRedTd &1

hY:

. goft et i €1

1. Toft i TR u= €1
1. 8 THER 7 TE &

fAreen:

|. 3® TER did &1

Il. T® THMER UF HFT 8

111, &Y e gt e 8

Options:

1) Only conclusion (1) and (1) follow
et e (1) qa (1) &t &

2) Only conclusion (1) and (IIl) follow
et Rt (1) aor (Ill) I &

3) Only conclusion (Il) follows

hae frsnd (1) TEt

4) Only conclusion (lIl) follows

Fae ey (II) 98t

Correct Answer: Only conclusion (I1) follows

haet fsay (1) TEt &

Candidate Answer: Only conclusion (Il) follows

hae fsnd (1) Tgt 8

QID: 36 -

From the given options, which answer figure
can be formed by folding the figure given i
the question?

foreafofaa famear #
AT um F G
ST Hahdl §7




Options:
1

ﬁ
)
)
)

_§

2
3
4

orrect Answer:

c
L
e N

andidate Answer:

-

QID:37-

Three position of a cube are shown below.

7 e ga & T e

P R
S p LIQ

/ P

U

Which letters will come on two faces marked
1and 2'?

1 guT 2’ 3ifehd @l Belehl UX id & 378TT
HEET?

T

y o
w




Options:

1)UandP

udarP

2)QandR

QaurR

3)PandS

Paars

4)Rand P

RaarP

Correct Answer: Q and R
QdarR

Candidate Answer: Q and R
QdurR

QID : 38 - Identify the diagram that best represents the relationship among the given classes.
Yellow, Vegetables, Red Blood
Ig oM@ g 57t A7 g 7Tq o & offer & Seier o wdt FAeuor e &1

Options:
1)

Correct Answer:

o8

Candidate Answer:

QO
O




QID:39-

In the given figure, how many big bottles are
not blue?

& S srpfa &, fopael a2 alaer drel a&

g7
Bottle/
g\ 22 arde
Big/
o e 11537 / !
‘ 49
Blue/eireil
Options:
1) 37
2) 115
3) 152
4) 89
Correct Answer: 37
Candidate Answer: 37
QID: 40 -

In the given figure, how many colour
televisions are not wide?

Colour/Lafe

Options:
1)72

2)18
3)43

4) 61
Correct Answer: 18
Candidate Answer: 18



QID: 41 -

Which answer figure will complete the pattern
in the question figure?

did T 3R ATHT WA FHId & Tfaeq @
QU HYET?

*~J
—

Correct Answer:

Candidate Answer:

QID: 42 -

Which answer figure will complete the pattern
in the question figure?

Bl @ 39 APl T4 Pa & gfasa @
T Hr?

~




Options:
1)

4

Correct Answer:

Candidate Answer: O :

QID: 43 -

From the given answer figure, select the on

in which the question figure is @

hidden/embedded.

& a8 3 HHfaar
@ gfaw &g & uA




Options:
1)

4

Correct Answer:

Candidate Answer: O :

QID: 44 -

From the given answer figure, select the on
in which the question figure is

hidden/embedded. K@

& TS I ATHfaEr
# gfe o & wa




Options:

)
Q|7
)

Q
2)
N
N,

4

KD B&

Correct Answer:

SR

Candidate Answer:

' N
N Y
QID: 45-

A piece of paper is folded and punched as
shown below in the question figures, Fr
the given answer figures, indicate h
appear when opened?

dIT & UM Tpfaar # GE
P AP Dl IAT Wlelel & a1c ag g
R Hpfa sar fewrs &ome

TS (=S




Options:
1)

4

QID: 46 -

A piece of paper is folded and punched as
shown below in the question figures. Fr
the given answer figures, indicate i
appear when opened?

a & U efaa & G
B AZH Dea JUT Wil o dic I fopg

R Ipia Sar fEmrs e

/1\0
o o




Options:
1

> B>

'S
=

o o

Correct Answer:

[¢]
o
o o
Candidate Answer: O
[¢]
o
o O

QID : 47 -

If a mirror is placed on the line AB,
which of the answer figures is the right i
of the given figure? K

afe T gdur @ AB
TS =W HHiaar
Hipla & \&1 ufdfasa




Options:

1)

Correct Answer:

-—

L %
Candidate Answer: O

= 3

QD

48-

X~

If a mirror is placed on the line AB, then
which of the answer figures is the right i
of the given figure?

A

N

afe we YT @ AB a
TS AT ATHfaAr F
Hipfa & | ufdfasa

A

m A
© J

w



Options:
1)

4

AD||e@H VD |VD

e (VD oeH oM

Correct Answer:

A
> o

Candidate Answer:

A
o

QID: 49 -

etc., and ‘T" can be represented by 56,
the set for the word “SLAP™.

U Qg Shdd U A-AHG N ©
T & Bar mar ) fawedt # Ry
oy ¥, otar @ R ae gt amegst # #
0 H4t A aegen Frs5d 9 39 AR H&W A Ugel IHA Ufen
AR g # FOFH G gRT gUT S adr Bl & fom ‘B’ @04,
20, 3G srr gufaT e wewar § AT T @ 56, 85, fe g gRiT S
AT B 3 R W U uw 3 RBU e "SLAP” ¥ fw map @

UEaEEr 1
Matrix-1 Matrix-11
Il Y-l
0[1]2[a]4 5(6]7]|8]0
O|L|A|M|Y|B SO|T|S|R|P
1M|Y[B[L[A 6|S|O|P|[T|R
2|B[L{AIM|Y 7|P[R|O|S|T
3|a|lM|[Y[B|L g8|/R|P|T|O]S
4 Y |B|L|A[M g|T|S|R|P|O
Options:

1) 57,00, 20, 13
2) 65,21, 75, 66
3) 78,34, 43,86

4) 96,42,98,77
Correct Answer: 78, 34, 43, 86
Candidate Answer: 78, 34, 43, 86



QID: 50 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented by
two classes of alphabets as shown in the given two matrices. The columns
and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-ll are
numbered from 5 to 9. A letter from these matrices can be represented first by
its row and next by its column, for example, ‘R’ can be represented by 10, 42,
etc, and ‘U’ can be represented by 75, 99, etc. Similarly, you have to identify
the set for the word “BOND™.

U QG hdol Uh HEO-GHF & oo o ¥, ot i feedl & @ el
T # fear amar §) faweut # Ry ov FEw-wHE 3eRT & &) ant R g
g ¥, ofar @5 Re e gt snept & ¥ amegpl & woew it ofe & wE
0 T4t A ameapn H158 91 57 WgE | S HeW @ upe S ufin
HR g & TaE wEar gRT G O Thal &1 3aAer & faw R @10,
42, 3G ST SRR S G@haT § aUT U @ 75 99, MG W guRET o
woar ¥ s o @ e oA A Ru e “BOND” & R mep ot

g §
Matrix-l Matrix-Il
Hieqg- -1l
D[1]2]|3[4 5/6|7|8|9
0|B(D[A|R|E 5[L|O|G|U[N
1|R|E|D|B|R G(O[N[UIGIL
2|D|(R|E[A|B TIU|IL|N|O |G
J|E|A|B|D|A 8|G|U|L|N|O
4|/A|B|R|E|D 9[N|G|O[L]|U
Options:
1) 00, 97, 56, 41
2) 13, 65, 66, 22
3) 24,78,33,13
4) 32, 89, 59, 20
Correct Answer: 32, 89, 59, 20
Candidate Answer: 32, 89, 59, 20
QID:51-____ unemployment happens when people are not able to find j e months of the year.
__ SRISATRY 9 BidT §, 59 @ a9 o $© AeH! | ASHTR Ut T8l
Options:
1) Seasonal \
2) Disguised
e r)
3) Educated
fafera
4) Technical
GEEiED]

Correct Answer: Seasonal

Candidate Answer: Seasonal

QID : 52 - Which among the following comes under secondary sector of Indian Economy?

fafafad 3 @ o R siefaearen 8 g & & siarfa amar &2

Options:

1) Cloth Industry
FHUST I

2) Transport of goods
Tegail &1 uRaga

3) Cotton production
hUTH chl ST

4) Banking

Eicat

Correct Answer: Cloth Industry
HUST LT
Candidate Answer: Banking

QID : 53 - In which economic system the goods produced are distributed among people not on the basis of what people need but on the basis of Purchasing Power?

forer anifefer Homelt # SauTfed aegen o1 fafe= safral & e faaRor IehT STaaendIsll & STIHR T8l JAfUg ITeh! Th & o STUR WR BidT 87



Options:
1) Socialist
FHTSTaTd

2) Mixed

fafea

3) Capitalist

4) Marxist

ATeRfaréY

gorrect Answer: Capitalist

(Eandidate Answer: Capitalist

QID : 54 - Which among the following is an example of progressive tax?

fF=fafad 3 9 & e umfaiie &R o1 Seresor &2
Options:

1) Excise duty

IeTE ek

2) Octroi

3) Income tax
3T

4) House tax

g X

Correct Answer: Income tax
3T hX

Candidate Answer: Income tax
T R

QID : 55 - In which year 'New Economic Policy' was announced in India?

IRA A frg adf # ‘7 anffes Ffer i ewom i 7 of?

Options:
1) 1990

2) 1991
3) 1992

4) 1989
Correct Answer: 1991
Candidate Answer: [ NOT ANSWERED |

QID : 56 - Who among the following is a part of political executivi

ffafEa 7 @ &9 ue aomfae srfurfereT @

Options:
1) District Magistrate
raefier
2) Secretary of Ministry of defence
&7 AT T i
3) Finance Minister

4) Superintendent of Police
srefieren

Correct Answer: Finance Minister

Cangiidate Answer: Finance Minister

QID : 57 - Indian Parliamentis ____.

TR EEE gl
Options:

1) Unicameral

e Fe

2) Bicameral

3) Tri cameral

4) None of these
Correct Answer: Bicameral

Candidate Answer: Bicameral

QID : 58 - Which among the following country is not a part of 'Second World Countries'?

frafefEa & & o a1 e 'gudt gfar & =i o feem =g am?



Options:

1) Russia
&9

2) China

EIG]

3) Mongolia

Hferar

4) Argentina

STSTET

Correct Answer: Argentina

Candidate Answer: [ NOT ANSWERED ]

QID : 59 - Which article in Indian Constitution describes India as 'Union of State'?

TR HfAUT & A9 & S # YR &l 'ISd] 1 e’ I T 82

Options:

1) Article 1

TR 1

2) Article 2

TG 2

3) Article 3

3TRE 3

4) Article 4

TS 4

Correct Answer: Article 1
1

Candidate Answer: [ NOT ANSWERED ]

QID : 60 - In which Constitutional Amendment Act, socialist and secular were added to Preamble of Indian C

forg gifdenfae dteq # vRdg e & uxaremn & gersrare aur yHRRgear o Sver mar ar?
Options:

1) 40" Constitutional Amendment Act
40 9t Fifqenfe e

2) 42" Constitutional Amendment Act
42 3t gifgenfaes Gt

3) 44”‘ Constitutional Amendment Act
44 3t gifqee gt

4) 49™ Constitutional Amendment Act
49 3t gifgenfie e

Correct Answer: 42t Constitutional Amendment Act
42 of gifqenfae deneT
Candidate Answer: [ NOT ANSWERED |

QID : 61 - Indian Constitution provides how m

IR e & fora TR & fReg (smesr o Firee

Options:
14

2)5
3)6

47
Correct Answer: 5
Candidate Answer: [ NOT ANSWERED ]

QID:62-
Match the following.

Fraferfaa & fmam fitsm

Theories / Rgia Concepts/ JAAERIT
1. Marxian Theory a. Payoff

LT M EEAG EIER
2. RealistTheory b. Power

RRICE I IEE-L] arf<h
3. Game Theory c. Classstruggle



Options:

1) 1-c, 2-b, 3-a

2) 1-b, 2-c, 3-a

3) 1-a, 2-b, 3¢

4) 1-c, 2-3,3-b

Correct Answer: 1-c, 2-b, 3-a
Candidate Answer: [ NOT ANSWERED |

QID : 63 - Who described Constitution of India as 'quasi-federal'?

IR T ‘Gl e e aramar am?

Options:
1) Grawville Austin
et ofifees

2) lone Jennings

32 Morris Jones

4) K. C. Wheare

&, @ IwR

Correct Answer: K. C. Wheare
ot R

Candidate Answer: [ NOT ANSWERED |

QID : 64 - How many Mahajanpadas were there in ancient India?

i YR § fhaw HgTeUE 97
Options:
1) 20

2)16
91 N
4)10

Correct Answer: 16

Candidate Answer: [ NOT ANSWERED |

QID : 65 - In which century Bhakti movement began?

Af<h STieier fehg SrdTed] # S gar ar?
Options:

1) 6t century
6 off eraredy

2)7 th century
7 of sraredt

3) 8t century
8 off araredy

4) 9t century
9 f sraredt

Correct Answer: 7 " century

7 of srardt
Candidate Answer: 7 th century
7 f sraredt

QID : 66 - Marco-polo, a famous traveller, was native of Which country?

UG am, AThT gier, fonet <21 T 37 framedt ar?

Options:
1) Uzbekistan
Irafhear

2) Italy
geelt

3) Morocco
HReR

4) Russia
g

Correct Answer: ltaly
Candidate Answer: [ NOT ANSWERED |

QID : 67 - Set the following dynasties in chronological order of their period of rule.

1. Khilji Dynasty
2. Lodhi Dynasty
3. Tughlaq Dynasty

Frffea ITsal st I7eh QMEH o SIATIehA STER Y|

1. et gmarsg
2. aeft IS

3. TR IS



Options:
11,32
2)3,1,2
3)2,3,1
4)3,2,1

Correct Answer: 1, 3,2
Candidate Answer: 1, 3,2

QID : 68 - In which year Quit India movement started?

AR Bl ST &g af # yR gaim 912
Options:
1) 1939
2) 1940
3) 1942

4) 1945
Correct Answer: 1942
Candidate Answer: 1942

QID : 69 - Which among the following is not a cash crop?

frfafea & @ @9 Ueh Tohal wae Toi 87

Options:
1) Cotton
HUTH

2) Groundnut

3) Tea

I

4) Jowar

AR

Correct Answer: Jowar
SaR

Candidate Answer: Jowar
SR

QID : 70 - How much portion of earth's surface is covered by water?

gecft it T T AT R ST & et o 82

Options:

1) One-third

qoh-faieTs

2) One-fourth

Teh-efterg

3) Two-third
et

4) Half

3T

Correct Answer: Two—-third

Candidate Answer: Two-third

QID : 71 - Indian Standard Time (IST) is based upon |

AR A G973 (IST) ARG Ae ARSI R emaRa g St for ____ 9 Torelt 81
Options:

1) Jaipur

SR

2) Kolkata

hictehTar

Standard Meridian which passes through .

3) Ahmedabad
STgHETETG

4) Allahabad
ESUGEEICS

Correct Answer: Allahabad
ESIGEIC

Candidate Answer: Kolkata
Eaccaci

QID : 72 - Which among the following river is also known as 'Tsangpo'?

frafofea 7 @ @ €t 78 @t qir of @t sirar 82



Options:
1) Krishna

Fw
2) Godavari
et

3) Ganga

T

4) Brahamputra

SR

Correct Answer: Brahamputra

SR

Candidate Answer: [ NOT ANSWERED ]

QID : 73 - 'Chumbi Valley' is located in which state?

gl Y o o e 22

Options:
1) Sikkim
foferrm

2) Himachal Pradesh
el

3) Uttarakhand

RENECLC

4) Kashmir

FHIR

Correct Answer: Sikkim

Candidate Answer: Uttarakhand
IRETS

QID : 74 - Guard cells surrounds _____.

ERAIMRABY _____ HERA &

Options:
1) Nucleus

2) Stomata

Y

3) Golgi apparatus
st IueRvoT

4) Mitochondria
ATgeIhitgaT

Correct Answer: Stomata
Y
Candidate Answer: [ NOT ANSWERED |

QID : 75 - What are male gamets called as?

R G hl HIT Fgd 87
Options:

1) Zygote

REEE)

2) Ova

3fer

3) Sperms

LA

4) Embryo

qor

Correct Answer: Sperms
LA

Candidate Answer: Sperms
AehT]

QID : 76 - At which period of life, body undergoes changes leading to reproductive maturity?

forg Samepret &Y orafer & R & U8 gRad= gid & g uRvmaesy st ulRgerrdr airdt §2

Options:
1) Adulthood
Epromil

2) Adolescence
[ERINEE

3) Adrenaline change
4) Target period
e sraen

Correct Answer: Adolescence
fara

Candidate Answer: Adolescence
[ERINEE

QID : 77 - Which of the following cell organells are present only in plant cell?

frafofea 7 @ @ o Hifeni e ared Hifew 3 R giar 8?



Options:
1) Cell membrane
R

2) Cell wall
hIfAhT fA=t

3) Mitochondria
4) Lysosomes

Correct Answer: Cell wall
Rl

Candidate Answer: Mitochondria

QID : 78 - Two Bones are connected to each other by connective tissue called as .

2 arfeat smow & geh g & goh Tateht Faeh A IS @t g, PR dea €1

Options:
1) tendon
el

2) ligament
Y

3) neuron

BNE]

4) adipose

qEHT

Correct Answer: ligament
g

Candidate Answer: ligament

Rk

QID:79-
Match the following.

- : ‘*> it

Mode of reproduction / Organism / ( >
Usteled &l WehlX sha

1. Fission a. Planari
Rrgo=a

2. Regeneration A

3. Budding

Farfea

Options:

1) 1-b, 2-a, 3-¢

2) 1-a, 2-c, 3-b

3) 1-¢c, 2-3,3-b

4) 1-a, 2-b, 3¢

Correct Answer: 1-b, 2-a, 3-c
Candidate Answer: [ NOT ANSWERED |

QID:80-A

T & weRIaT t T1a uit F Ranforg o ar @

Options:
1) concave lens
3T A9
2) convex lens
I o
3) prism

\J
4) concave mirror
3TTad UoT

Correct Answer: prism
I

splits sunlight into seven colours.

Candidate Answer: prism
3

QID : 81 - What is the process of conversion from solid to gas is known as?

319 & 9 & e &t o ot o dgd 82



Options:

1) Fusion
U

2) Solidification
STHAT

3) Sublimation
ST

4) Condensation
geq

Correct Answer: Sublimation
Fedaro

Candidate Answer: Sublimation

QID : 82 - At what temperature water converts to water vapour?

forg aToaT R T, STerarsy 8 gRkafda giar 82
Options:
1) 273k
2) 100 k
3)373k

4) 0k
Correct Answer: 373 k
Candidate Answer: 373 k

QID : 83 - What is the unit of frequency?
ST AT ATk RIT &2

Options:
1) Decible
SREC

2) Watt
qre

3) Hertz

4) Newton
g

Correct Answer: Hertz

Candidate Answer: Hertz

<)

QID : 84 - Which among the following is/are

I. Scanner
1. Speaker
I1l. Plotter

frfafea & & & Ua emhege fSasa 8?2

|. TR
1. ==
M. witex

Options:
1) Only |
e |
2) Only Il
Fad |l

3) Both Il and Il
1 111 =Y

4) Both | and Il
| o 11l &Y

Correct Answer: Both Il and Il
Il 2 11 gt

Candidate Answer: Only II
Faa Il

QID : 85-1BM 701, IBM 702, IBM 650 are examples of _____.

IBM 701, IBM 702, IBM 650 % IaTERIT 8



Options:
1) First generation computer

mH it ey
2) Seconq generation computer

i g

3) Third generation computer
ik

HR

4) Fourt.h generation computer
Treft it e

Correct Answer: First generation computer
T fid R

Candidate Answer: [ NOT ANSWERED |

QID : 86 - Spinach contains .

uTeteh B U1 ST 8
Options:
1) Lactic Acid
AR et
2) Oxalic Acid
I 3T
3) Carbonic Acid
SIaTen 3
4) Formic Acid
TfEich STrel

Correct Answer: Oxalic Acid
iT 3t

Candidate Answer: Formic Acid
fifeh SrFet

QID : 87 - Which among the following is a negatively charged ion?

fafafed & @ o ve w1 smafda sma= 82

Options:

1) Calcium ion
S

2) Zinc ion

fSier e

3) Silver ion

AR s

4) lodine ion

SIS =

Correct Answer: lodine ion

SIS S

Candidate Answer: [ NOT ANSWERED |

QID : 88 - What is the common name of sodium

Tifegy FIETe S JEFT T 47 82

Options:

1) Limestone
AT YA

2) Lime

kSl

3) Marble
I

4) Washing soda
i Frer

Correct Answer: Washing soda
EIRUES
Candidate Answer: Lime

kS

QID : 89 - Which of the following is most reactive in nature?

fafafad 3 @ o g ifdes ufaftransfia @@ w1 g?

Options:
1) Potassium
Trefre

2) Calcium
[

3) Lead
oar

4) Copper
arem

Correct Answer: Potassium
R

Candidate Answer: Potassium
e

QID : 90 - Which among the following is not a Biotic component of environment?

fafafad & @ o= 91 yafaror o1 g Si9 9o 8 8?2



Options:
1) Parasites

2) Decomposers
TSR

3) Non-Green plants
RS
4) Soil

Correct Answer: Soil

Candidate Answer: Soil

QID : 91 - Bleaching liquors are inorganic pollutants produced mainly by which Industry/Industries?

I. Paper and Pulp Industry
II. Iron and Steel Industry
IIl. Mining Industry

T SET & e AR TR 3rota Ugweh R fores T SeTe giat 87

I. TSt 3R e e
I1. ST auT Wer SEhT
M. = ST
Options:

1) Only |

et |

2) Only Il

Fad |l

3) Only Il
haa Il

4) Both Il and Il
113 111 @t

Correct Answer: Only |

et |

Candidate Answer: Only |
|

QID : 92 - Which among the following is not a Kharif crop?

faafafea & e o @dw o T8l 87
Options:

1) Tur daal (arhar)

TR A (3RR)

2) Bajra

STSIRT

3) Wheat

g

4) Maize
FERRT

Correct Answer: Wheat

Candidate Answer: Bajra
qoRT

QID : 93 - Under MUDRA Bank, loan ranging from Rs 0 to Rs 5,00,000 is categorized under __.

g1 der & Siid 50,000 & & 5,00,000 & dch T FOT_____ R H M &1
Options:

1) Shishu

fRrgg

2) Kishor

Rk

3) Tarun

q&ur

4) Atul

gt

Correct Answer: Kishor
IENIN

Candidate Answer: Kishor

fRaR

QID : 94 - Who among the following discovered blood group?
frafafea & 3 fore w6 Tgg & @it i of?



Options:
1) Joseph Fourier

2) Karl Landsteiner

3) M. S. Swami Nathan
TH. UY. T e

4) Richael Carlson
RECREICE

Correct Answer: Karl Landsteiner

et

Candidate Answer: Karl Landsteiner

QID : 95 - 'Faster, Higher, Stronger ' is motto for which of the following Games Event?

"THIRER, BIR, TR fohdy Gt T e ol Alel 872

Options:

1) Asian Games
TR g

2) IPL
318, . Ue.

3) Olympics
anciften

4) FIFA World Cup
T fay g

Correct Answer: Olympics

Candidate Answer: [ NOT ANSWERED |

QID : 96 - 'Jamini Roy ' was associated with which Art form?

‘SR I R et @ Heifda 92
Options:

1) Dancing

I

2) Singing

mfafe

3) Drama
Tdh

4) Painting
ISECTIN
Correct Answer: Painting

Candidate Answer: [ NOT ANSWERED |

QID : 97 - Which film has been awarded with ational film Awards.

64 3 T fther QRERR # THITGIG g, WR &1 i
Options:

1) Dangal

et

2) Sultan

Hod|
3) Pink
o

4) Jolly L.L.B. 2
Sifeft Tet. Tt &t 2

Correct Answer: Pink

Candidate Answer: Pink

QID : 98 - 'My Country My Life' is written by .

A I A AR Fgri ot mE
Options:

1) Raghav Bahal

d gl

2) Lal Krishna Advani

T S0 STSaTofy

3) Mamta Banerjee

HACT

4) Meira Kumar
AR
Correct Answer: Lal Krishna Advani
TSt ST
Candidate Answer: Lal Krishna Advani

T 80T TSaToft



QID : 99 - Which of the following was the fifth country to join BRICS?

fafafaa & & o forer (BRICS) @ Sg aTer uidai a1 om?

Options:
1) Argentina
ST

2) South Africa

aferor ket

3) Spain

T

4) Sri Lanka

fictent

Correct Answer: South Africa
3ThIAT

Candidate Answer: South Africa

EfgroT arvhienT

QID : 100 - Kaladan transport project is between Indiaand ___.

HAGH AT GRAST YRIdar__ F = dl

Options:
1) Nepal
Juret

2) Bhutan

A=

3) Myanmar
RIAR

4) Afghanistan
ST

Correct Answer: Myanmar

RAR
Candidate Answer: [ NOT ANSWERED ]

QID: 101 -

If x =7 + 210 , then what is the value of +/x — L

ﬁ?

IE x=7+210 T, aF Jx - 1 & ame

X

<1

Options:
1

2.2

2)

25

2.2

4)
2
3(2¥2+45)
Correct Answer:
2
5(2v2+45)
Candidate Answer: [ NOT ANSWERED |

QID : 102 - Which of the following relation(s) is/are true?
.v7+v3>V5+ V5

I.v5+v5>v2+ V8

. v5+v5>v7+v3

ffafea & @ =i qr/a d&u @81 8/8?
I.V7 +v3>V5+V5
I.V5+V5>v2+V8
. V5 +v5>V7 +v3



Options:
1) Only |
e |

2) Only Il and Il
had Il qT I
3) Only I and Ill
hadt | Tl

4) Alll, 1l and 1l
I, 11 1 gy

Correct Answer: Only Il and 1l

Faet Il g il
Candidate Answer: [ NOT ANSWERED |

QID:103-Ifa=1++v3,b=1-v3,then what is the value of a% + b2 ?

gk a=1+v3,b=1-v3g aa?+b?2 & aF Fa?

Options:
1)4

2)8
3)0

4)2
Correct Answer: 8
Candidate Answer: 8

QID : 104 - What is the unit's place of 121232

12123 &1 geTd 3ieck T &2

Options:
1)2

2)4
3)6

4)8
Correct Answer: 8
Candidate Answer: 8

QID : 105 - How many two digit numbers are divisible by 3 but not by 7?

&} 3kl Y foralY Tl &, 7Y 3 @ favrsy & Atk 7 @ wdi?
Options:

1)13

2) 26

3) 30

4) 47

Correct Answer: 26

Candidate Answer: [ NOT ANSWERED |

QID : 106 - Pipe A can fill a tank in 12 hours
how much time (in hours) the tank will be full?

TST A Ueh EhY Y 12 € B 9R ekl & 9T UTST B 39
at &l foham g (s #) # waf?

Options:

1

1
143

the tank in 18 hours. If both the pipes are opened on alternate hours and if pipe B is opened first, then in

e H 9R FordT &1 Afe 41 UTSal hl IR-aTRt © Yeh-ah € & oIy @it ST & et 3 urdy B @l uget @il e 8,

2

1
1?3

3)

i,
142

4

1
162

Correct Answer:

i
142



Candidate Answer:

.
142

QID : 107 - A, B and C can do a piece of work in 20, 24 and 30 days respectively. All three of them began the work together but B left 3 days before completion of the
work. In how many days was the work completed?

A, B T C U B ol ShAST: 20, 24 F21 30 Rt & qr1 ahe Fend &1 it 3 fietan s &t gRsana o € Ui B i e 819 & 3 e ud ol etgane gt s1rar 21 ot fohae) foet o qmr
gomgm?
Options:

1)7
2)10
3)12

4)9
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED |

QID : 108 - The marked price of an article is Rs 8480. If a discount of 12.5% is given, then what will be the selling price (in Rs) of the article?

Ueh g% o1 Sifcha Hed 8480 3. &1 AfE 12.5% i e & STl 8, At I a1 sk Hed (3. #) & ghm?

Options:
1) 7420

2) 6890
3) 6360

4) 7380
Correct Answer: 7420
Candidate Answer: 7420

QID : 109 - An item is sold for Rs 1428 after two successive discounts of 12.5% and 20%. What is

e % TR 12.5% T 20% i & ShfAeh e 3 o U 1428 3. | ST ST &1 I 1 Sifehd 7o (3. ﬁ*) 27

Options:
1) 2000

2) 2100
3) 2040

4) 2400
Correct Answer: 2040
Candidate Answer: 2040

QiD:110-
A2 B_4
B 3L 5 D 2
what isthe ratioof A B : C : D?
A 2 B 4 C 3
—=—,—==—d¥l —=— 8§,
St B 3C 5 D 2 &
dr A:B:C:DH HAT FAT 872
Options:
1)8:12:10:15
2)8:15:12:10
3)8:10:12:15
4)8:12:15:10

Correct Answer: 8:12:15:10
Candidate Answer: [ NOT ANSWERED |



QID : 111 - A started a business with Rs 20000 and B joined after some time with Rs 25000. If A and B share the profit in the ratio of 1 : 2 respectively, then what is the
ratio of the time period of investment for A and B respectively?

A TS ZaETd et 20000 F. & 3R T & TUT B F& T U1 25000 <. & A1 raarg & At giar 81 afe shAsr: A aUT B @1 @l 1 : 2 & 31UTd | dfed &, at shAn: AT B &
321 7 THg Srafd e SruTd T gIT?

Options:

Correct Answer: 5:8
Candidate Answer: 5: 8

QID : 112 - The average of 6 consecutive even numbers is 25. If the next even number is also considered, then what is the new average?

6 AT 8 TATafl &1 3ftaa 25 g1 afg snTet I ke ot oft fovar sy, ot = s aan ghm?

Options:

1) 27

2) 25

3) 26

4) 28

Correct Answer: 26
Candidate Answer: 26

QID : 113 - There is group of 8 teachers. One teacher leaves the group and a new teacher joins the group. Due to this, the average age of teachers becomes same as
the average 2 years ago. If the member who left was aged 42. Then what is the age (in years) of new teacher?

8 TeHTUH I Goh THE & | Geh ST TG OIS odll & IR Ueh T STLATUD THE H T ST ¢ 1 3 IoTg & STATUh ol 3 AT 2 el Ugel el S 3G o SRR &1 STt 61 AfS ST
aTet SreaTueh i 3mg 42 oft, at T SreaTue Y Y (Fwt H) w1 E?

Options:
1) 22
2) 28 VN
3)24 ( >
4)26 D e
Correct Answer: 26 >

2”7 “~ N ”

Candidate Answer: 26 {/

QID : 114 - A purchased an article and sold it to B at a loss of 20% and B sold it to in of/Z)%. C purchases the article for Rs 480. For what price (in Rs) A has
purchased the article?

A e I%g ol @edT & 9T B &t 20% 3l g1 IR =it & SR B 39 a%g &t C &l 20%

%

| C a&g ol 480 &. § TicdT &1 A 3 aeg &t fohd & (3. #) R @dter u1?

Options:
1) 500

2) 450
3) 420

4) 480
Correct Answer: 500
Candidate Answer: 500

QID : 115 - 20% of cost price is equal to 30% of the selling price. What is the loss percentage?

o T T 20% TerT 7o & 30% S SRTeR 31 BT o1 Ufaeid om 87

Options:

1) 33.33

2) 50

3) 20

4) 25

Correct Answer: 33.33
Candidate Answer: 33.33

QID : 116 - Salary of A is 20% more than B and salary of B is 18% more than C. The salary of C is (approximately) how much percent less than A?

AT 3T B § 20% SUTET & dT B i 311 C § 18% STaT &1 C &Y 3114 (A1) A § et ufderd e 82

Options:
1)29.3%

2)32.5%
3) 26.7%

4) 28.1%
Correct Answer: 29.3%
Candidate Answer: [ NOT ANSWERED ]

QID : 117 - Price of sugar increases by 30%. If expenditure increases by only 10%, then by how much percent consumption should decrease?

At 3 T 7 30% H1 gfG St &1 afk = Fhaet 10% @ Fgd &, at @ud A fve ufasra & &t ghfi?



Options:
1)14.29

2)15.38
3)13.68

4)16.54
Correct Answer: 15.38
Candidate Answer: [ NOT ANSWERED ]

QID : 118 - Amit goes to his office by car at the speed of 80 km/hr and reaches 15 minutes earlier. If he goes at the speed 60 km/hr, he reaches 15 minutes late. What
will be the speed (in km/hr) of the car to reach on time?

AT ST TR § HraferT R gRT 80 3. Hi/der Y i & S & 9k 15 e Skt uga sman &1 af a8 60 f35.Hy/ger i 7fay & S & & 15 e 38 § ugaar 81 St vag muge &
forg @R it ify (R =it/ eer &) = gFft?

Options:
1)
66E
7
2
ES?’fi
¥
3)
BESfE
7
4)
69 4
7

Correct Answer:

4 ey

682 >
7 »
(/ v N i
\\Qe, jz}rney at the speed of 50 km/hr and the rest at the speed of 100

T 9 7T 100 5.+ /der i ifay & 7 o e 81 g A & SR Iueht sfted

Candidate Answer: [ NOT ANSWERED |

QID : 119 - One third of a certain journey is covered at the speed of 80 km/hr, one f
km/hr. what will be the average speed(in km/hr) for the whole journey?

ek AT &1 Geh—TIgTE T 80 3.t /8ieT &hY 71fy @, amsim &t Geh-aiters 7 50 f,
it (fop. =, /5ier &) T gifi?
Options:

1)75

2)67

3) 66.66

4) 76.66

Correct Answer: 75
Candidate Answer: [ NOT ANSWERED ]

QID : 120 - What is the compound interest (in'Rs) on a principle sum of Rs 2800 for 2 years at the rate of 12% per annum?

2800 %. & FeIe R 2 aut & 12% Y anfifen oz @ Tshgles, samei (<. F) wam gm?
Options:

1) 687.18

2) 634.46

3)712.32

4) 568.68
Correct Answer: 712.32
Candidate Answer: 687.18

QID : 121 - If interest being compound half yearly then what sum (in Rs) will amount to Rs 38416 in 2 years at the rate of 80% per annum at compound interest?

g sret SrefaTyer Taiford fomar S, |t 2 aef & 80% <t aTftfeh &x & Tehgfeg =TSt IR T WM (. H), 38416 3. g1 IRAf?
Options:

1) 14000

2) 15000

3) 10000

4) 12000

Correct Answer: 10000

Candidate Answer: [ NOT ANSWERED ]



QID:122-

The table given below shows the number of
students studying in five colleges in the given
five years.

e & S arfeer § fer arv o st &
i Flelal H U¢ g O fr GE&ar &

ST I B
Year College/®Telol
ay [ N 5 P Q

2009 450 330 400 500 500
2010 480 380 380 520 510
2011 430 390 440 440 440
2012 480 360 480 490 450
2013 490 340 360 550 550

If in year 2011, in college N, 80% of the total students appeared in a exam, out of which 50% students passed, then hew many students passed the exam?

af af 2011 ﬁaﬁﬁmNﬁﬁ%?ﬂa’fﬁﬁso%qa;uﬂ&nﬁm%,ﬁqﬁﬁso%muﬁmﬁmgia’m’&wﬁ% W
Options: PR

V4

1) 136 {/

2)152 \

‘\

3) 156 )
4)162

Correct Answer: 156
Candidate Answer: 156

QID:123-

The table given below shows the numbe
students studying in five colleges in
five years.

= & 12 arfoer # Be v
Ui Flelall H Ug Ig STl &l HEaT &

ST I B
Year College/®Telol
ay M N 0 P Q

2009 450 330 400 500 500
2010 480 380 380 520 510
2011 430 390 440 440 440
2012 480 360 480 490 450
2013 490 340 360 550 550

What is the ratio of the total number of students of college N in all years to the total number of students of all the colleges styding in the year 2011?

goft guf &, sietst N & ugat aret et o1 6t Tt g af 2011 § Goft srifelsil # uga aret et ST hl ST T SHALT: U T 82
Options:

1) 100:107

2)90:107

3)90:119

4)90:127

Correct Answer: 90 : 107

Candidate Answer: 90 : 107



QID: 124 -

The table given below shows the number of
students studying in five colleges in the given
five years.

e & S arfeer § fer arv o st &
i Flelal H U¢ g O fr GE&ar &

gairar I gl
Year College/®Telol
ag M N 5 P Q

2009 450 330 400 500 500
2010 480 380 380 520 510
2011 430 390 440 440 440
2012 480 360 480 490 450
2013 490 340 360 550 550

What is the average of the total number of students studying in college M in the given years?

g g auf & ekt M & Ug 3@ Gt BTH <l Tt o Sied R 82

Options:
1) 412

2) 420
3) 400

4) 466

Correct Answer: 466
Candidate Answer: 466

QID: 125 -

The table given below shows the numbe
students studying in five colleges in

five years.

= & 12 arfoer # Be v
Ui Flelall H Ug Ig STl &l HEaT &

g T g
Year College/®Telol
ag M N 0 P Q

2009 450 330 400 500 500
2010 480 380 380 520 510
2011 430 390 440 440 440
2012 480 360 480 490 450
2013 490 340 360 550 550

In which of the given years the average number of students studying is maximum?

g mq fohg af & uen aret B & e  Sitgd Sifdrndd 82

Options:
1) 2011

2) 2009
3)2010

4)2013

Correct Answer: 2013
Candidate Answer: 2013



QID : 126 - The perimetre of a rhombus in 20 cm and one of the diagonal is 8 cm. what is the area (in cm?) of the rhombus?

e Tragefst &t oRfY 20 A4, R qur et yen ol Y ervrd 8 .41, &1 wEragSt o1 esthet (9.41.2 H) @ 22
Options:

1)12

2)24

3)48

4) 96

Correct Answer: 24

Candidate Answer: [ NOT ANSWERED |

QID : 127 - Three circles of radius 9 cm are kept touching each other. The string is tightly tied around the three circles. What is the length (in cm) of the string?

9 3. 7). s aret fiF gt ot oo # sl ad gY@ T 8| <1 gl o AT STR Ueh U Shieny ST T &1 4 Y oS ((T A7) | g

Options:

1) 48 + 181
2) 48 + 241
3) 54 +18n
4) 54 + 241

Correct Answer: 54 + 181
Candidate Answer: [ NOT ANSWERED |

QID : 128 - The difference between circumference and the radius of a circle is 111 cm. What is the area (in cm?) of the circle?

Teh g S aRfRY e B a1 siar 111 §.f). 81 g1 o1 ket (.72 F) n 82

Options:
1) 469

2) 1386
3)912

4) 1086
Correct Answer: 1386
Candidate Answer: 1386

AL N &,>
QID : 129 - If the diameter of a sphere is 14 cm, then what is the curved surface arga'(in %2) ofﬁe sphere?
Ife; geh el ol ey 14 Q.. 8, &Y el ohr gk qefig derer (.72 H) 82 §

Options:
1) 616

2) 1232 @
3) 2464 \
4) 576

Correct Answer: 616
Candidate Answer: 616

QID : 130 - If the ratio of volume of two cubes is 11 : 13, the at is the ratio of the sides of the two cubes?

I S gl & STaa T SIguTd 11 : 13 8, @ 1 51 el 511 &l STFuTd T 82
Options:

1)11:13

2)121:169

3)(1)V2:(13)1/2

4)(11)13:(13)173

Correct Answer: (11)1/3: (13)1/3

Candidate Answer: (11)1/3: (13)1/3
QID:131-

If x =17 — 4-/18 , then find the value of&+i?

Vx

I x=17-4J18 &, ar V’}+izﬁrm?—rwﬁ?
iy



Options:
1) 7v2

2)9
3)22

46
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

QID:132-

If az+b2+02+i2+iz+i2:6, then what is

a b c
the value of a2 + b2 + ¢2?

afe az+b2+cz+iz+i+i:6 g, dr a2+
a

b* ¢*

b2 + ¢2 T AT &FIT §?

Options:
13

2)6
3)-3

4)2
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED |

QID:133-

If 3x2—9x + 3 =0, then what is the value o

3
[x+1J ?
X

Ife 3x2-9x+3=0

w1 §?

Options:
1)9

2)729
3) 81

4) 27
Correct Answer: 27
Candidate Answer: [ NOT ANSWERED |




QID:134-

If x—l =3, then what is the value of x* —ig?
X X

afy x—1-3% @ x3—i3mr:m?-rw%?
X X

Options:
1) 36

2) 21
3)9

4)27
Correct Answer: 36
Candidate Answer: [ NOT ANSWERED |

QID:135-
If x2—9x — 1 =0, then what is the value of
1 5
X*+—+5x-=7?
x* X
5 1 5
afg x2-9x-1=0% @ x¥*+ - +5x—=
x* X
AT 4T 87
Options:
1115
2)128 K
3)124
4)133

Correct Answer: 128
Candidate Answer: [ NOT ANSWERED ]

QID : 136 - A circle passing through points Q and
degrees) of 2PRQ + 2QXY?

st PQR & famg Q 9T R § gYe oA aTelt Ueh g, oY PQ 2T PR ot shAst: falmg X o Y ufdesbe areelt 81 afk PQ = PR 8, at 2PRQ + QXY @1 a4 (ftft #) & 82

Options:
1) 120

gle PQR, cut the sides PQ and PR at point X and Y respectively. If PQ = PR, then what is the value (in

2) 150
3) 240

4) 180
Correct Answer: 180
Candidate Answer: [ NOT ANSWERED |

QID : 137 - A, B and C are the three points on a circle such that LABC = 35° and «BAC = 85°. What is the angle (in degrees) subtended by arc AB at the centre of the
circle?

fag A, B 3T C T g R 38 UK & fh 2ABC = 35° qT 2BAC = 85° 81 919 AB GRT g & g WR S7idReh ahior vt A1 (et #) srim &2
Options:

1) 60

2) 90

3)135

4)120

Correct Answer: 120

Candidate Answer: 120



QID : 138 - In APQR, S and T are the mid points of sides PQ and PR respectively. If QPR = 45° and ~PRQ = 55°, then what is the value (in degrees) of 2QST?

APQR #, S d1 T sHS1: PQ a1 PR & wer fag &1 afd QPR = 45° @21 £PRQ = 55° &, dt QST a1 A (feft ) @ 82

Options:
1) 80

2)85
3)90
4)100

Correct Answer: 100
Candidate Answer: [ NOT ANSWERED |

QID : 139 - AB is a tangent to a circle with centre O. If the radius at the circle is 7 cm and the length of AB is 24 cm, then what is the length (in cm) of OA?

AB, Ta g fSieent & O &, &t sl 3T & 571 g1 ot foig B TR Tk &t & | I g7 oht forsam 7 ST, Jum AB &t eiairs 24 3T, 8, df OA &t arwrg (3.+1.#) fanait 82

Options:

1) 25

2) 26

3) 28

4) 31

Correct Answer: 25
Candidate Answer: 25

QID: 140 -

In the given figure, what is the value of £1 +
2+ /3+/4+/5+/6+ 7T+ /8+ 79+
£107?

ATISHMPIAH, L1+ 22+ £3+ L4+ 5+
/B+ LT+ /8+ /9 + 210 T AT FAT &2

Options:
1) 600

2)720
3) 900

4) 1080
Correct Answer: 720
Candidate Answer: [ NOT ANSWERED |



QID:141-

_ (tan® x — sin®x)
What is the value of 5 ?
sec’ x

(’tan2 X — sin® x)

- & AT FT §?
sec X

Options:
1) sin? x

2) cos? x

3) sin? x

4) cos* x

Correct Answer: sin®

Candidate Answer: [ NOT ANSWERED ]
QID: 142 -

If sinx = % andcos y = % , then what is the O
value of sin(x + y)?

O

e sinx*%?ﬁl‘l’cosy=%%’, ar sin(x + y

& AT FIT 87

Options:
1)2/3

2) 4/9
3)5/9

41
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED |

QID: 143 -

COSX + COSy
sinx + siny

What is the value of

COsSX +Cosy

_ : FT AT FIT 87
SINX +siny



Optlons

an [£22)

+
<

X —

"':

tan
2

iy
()

2

X+Yy
L
Correct Answer:

cot[ery

Candidate Answer: [ NOT ANSWERED ]

QID : 144 - What is the value of sec12° sin12° tan38° tan78° tan52°?

sec12° sin12° tan38° tan78° tan52° & | T 82

Options:
01

2)3
3)1/2

4) 3/2
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED |

QID:145-

Find the value of
(cotB —cosecB + 1)
cosBc

(cotB — cosecB + 1) (tan
cosB cosecB

AT 47 872

Options:
1) 2 cos 6

2)2
3)2cotB

4)2tan 6
Correct Answer: 2 tan 6
Candidate Answer: [ NOT ANSWERED |



QID: 146 -

The given pie chart shows the various
expenses (in percent) incurred by publisher on
publishing a book.

feu o7 g9 T & e uenw g U@
gEdeh & Y H fopr o fafdes <
(wfaRa #) @ gemar = ¥

Binding /

= 5 Printing /
12% :

33%

Advertising /
IEEGIRGI Paper/
18% FETA

14% \ l
Royalty / Others /
gect kL)
17% 6% O

' Rs) spend on Advertising?

If the total amount spend on the publishing the book is Rs 68000, then what will 5

af, TRereh 3 ST TR @ 0 7 et AR 68000 . B, Y R Uk ey oY T AR (5 g

Options:
1) 11560

2) 12240
3) 9520

4) 8160
Correct Answer: 12240
Candidate Answer: 12240



QID: 147 -

The given pie chart shows the various
expenses (in percent) incurred by publisher on
publishing a book.

feu o7 g9 T & e uenew g U@
gEdeh & Y H fopr o fafdes <
(wfaRa #) @ gemar = ¥

Binding /

= 5 Printing /
12% :

33%

Advertising /
IEEGIRGI Paper/
18% Pl
14%
Royalty / Others / Ok

Ugedy =
17% 6% O

If the amount spend on Binding is Rs 14400, then what will be the amount (in Rs

Tfg fieearsht R =7 &l 78 A 14400 3. 8, A AT R o Y 78 i (3. &) 7w

Options:
1) 7200

2) 20400
3) 15600

4) 16800
Correct Answer: 16800
Candidate Answer: 16800



QID: 148 -

The given pie chart shows the various
expenses (in percent) incurred by publisher on
publishing a book.

feu o7 g9 T & e uenw g U@
gEdeh & Y H fopr o fafdes <
(wfaRa #) @ gemar = ¥

Binding /

= 5 Printing /
12% :

33%

Advertising /
IEEGIRGI Paper/
18% Pl
14%
Royalty / Others / Ok

Tgeey g
17% 6% O

By how much percent the total amount spend on Paper and Binding is less than 2ol d on Printing?

FHATS qT Forea™Tsh R g &l TS et MY, BUTE TR 77 I 715 1A § fha= wfarara &

Options:
1)21.21

2) 4545
3)303

4) 33.33
Correct Answer: 21.21
Candidate Answer: 21.21



QID: 149 -

The given pie chart shows the various

expenses (in percent) incurred by publisher on

publishing a book.

feu o7 g9 T & e uenw g U@
gEdeh & Y H fopr o fafdes <
(wfaRa #) @ gemar = ¥

Binding /

= 5 Printing /
12%

Advertising /
=
18%
Royalty / Others /
Ugeer A=
17% 6%

By how much the average amount spend on Printing, Paper and Royalty is more

spend on Publication is Rs 1500007

Options:

1) 9500

2) 10000

3) 7500

4) 9000

Correct Answer: 9500

Candidate Answer: [ NOT ANSWERED |




QID: 150 -

The given pie chart shows the various
expenses (in percent) incurred by publisher on
publishing a book.

feu o7 g9 T & e uenw g U@
gEdeh & Y H fopr o fafdes <
(ufarE ) @ gemar = ¥

Binding /

Printing /
foregarsh
oaTS

33%

Advertising /

IEEGIRGI Paper/

18% HT
14%
Royalty / Others /
gect kL)
17% 6%

N

For 11000 books the expenses incurred on others is Rs 36960. If publisher want: of 25%,)7en what should be the marked price (in Rs) of each book?

11000 Y&aah! & forg, er=at uR foam T ey 36960 <. &1 afe Uemt=ieh 25% T a1t ] &1 Sifehd T (3. H) a1 ghm?
Options:
1) 56

2)76
3)70

4) 50
Correct Answer: 70
Candidate Answer: 70

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select '‘No Error'.

Three lakhs of people (1)/ attended the workshop (2)/ held in Ramleela ground. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Ayesha is among the few people (1)/ in the office which did not (2)/ blindly follow the path of other. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 3

QID : 153 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

1 would (1)/ rather to (2)/ die than beg. (3)/ No Error (4)



Options:

1)1

2)2

3)3

4)4

Correct Answer: 2
Candidate Answer: 2

QID : 154 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select '‘No Error'.

Ankit can not (1)/ succeed because (2)/ he labours hard. (3)/ No Error (4)
Options:

Correct Answer: 3
Candidate Answer: 2

QID : 155 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

The teacher (1)/ explained everything (2)/ very clearly. (3)/ No Error (4)
Options:

Correct Answer: 4
Candidate Answer: 4 {

QID : 156 - In the following question, the sentence given with blank to be filled in with an appropriate word. Séleéuthe correct alternative out of the four and indicate it
by selecting the appropriate option. >

Hundreds of have been used in the study of the past and of man's progress.

Ve N v
Options:
1) stories
2) tales " N

3) methods {/
4) motions

Correct Answer: methods
Candidate Answer: methods

QID : 157 - In the following question, the sentence given with blank to b
by selecting the appropriate option.

appropriate word. Select the correct alternative out of the four and indicate it

Computer literacy will be crucial in childrej ith th ncement.
Options:

1) teaching

2) negotiating

3) separting

4) encouraging

Correct Answer: teaching
Candidate Answer: teaching

QID : 158 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Vishal couldn't
Options:

1) had

2) have been
3) have

4) having
Correct Answer: have
Candidate Answer: have

breakfast today.

QID : 159 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

One of the pens no ink.
Options:

1) has

2) have

3)is

4) are

Correct Answer: has
Candidate Answer: has

QID : 160 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

This is the same dog was running on the road.




Options:

1) whom

2) who

3) which

4) that

Correct Answer: that

Candidate Answer: who

QID : 161 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Ablaze

Options:

1) cool

2) furious

3) restore

4) prolong

Correct Answer: furious
Candidate Answer: prolong

QID : 162 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Chivalrous

Options:

1) heroic

2) abhorrent

3) doleful

4) rude

Correct Answer: heroic

Candidate Answer: [ NOT ANSWERED |

QID : 163 - In the following question, out of the four alternatives, select the word similar in meaning to the wo
Concocted —
Options:

1) certain

2) sensitive N,
3) pathetic

4) dubious

Correct Answer: dubious {/ > N

Candidate Answer: [ NOT ANSWERED |
éhing to the word given.

QID : 164 - In the following question, out of the four alternatives, select the wor

Gambol

Options:

1) brittle

2) frisk

3) shallow

4) work

Correct Answer: frisk

Candidate Answer: [ NOT ANSWERED |

QID : 165 - In the following question, out of the four alterna ect the word similar in meaning to the word given.

Jangle

Options:

1) quite

2) flatter

3) disagree

4) spongy

Correct Answer: disagree

Candidate Answer: [ NOT ANSWERED |

QID : 166 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Keen

Options:

1) meek

2) sharp

3) preserve

4) dull

Correct Answer: dull

Candidate Answer: dull

QID : 167 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Loiter
Options:

1) wander
2) punctual
3) sober

4) free

Correct Answer: punctual



Candidate Answer: [ NOT ANSWERED ]

QID : 168 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Madden
Options:
1) calm
2) enrage
3) sordid
4) fussy

Correct Answer: calm
Candidate Answer: [ NOT ANSWERED ]

QID : 169 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Penitence
Options:

1) sterile
2) approval
3) deter

4) remorse

Correct Answer: approval
Candidate Answer: remorse

QID : 170 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.
Slacken

Options:
1) rejoice

2) increase
3) flimsy {

4) abate

Correct Answer: increase g
VAL N o
QID : 171 - In the following question, out of the four alternatives, select the alternative which best xpresjs the meaning of the idiom/phrase.

Candidate Answer: flimsy

A dark horse

Options:

1) no longer in use

2) self-possessed

3) a competitor of unknown capabilities

4) an unfortunate person

Correct Answer: a competitor of unknown capabilities

Candidate Answer: a competitor of unknown capabilities

v

QID : 172 - In the following question, out of the four ative which best expresses the meaning of the idiom/phrase.

All at sea

Options:

1) completely confused

2) in great trouble

3) rise and fall

4) inspite of

Correct Answer: completely confused
Candidate Answer: completely confused

QID : 173 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Bear up with

Options:

1) endure

2) deceit

3) uncertain

4) avoid

Correct Answer: endure
Candidate Answer: avoid

QID : 174 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Creature comforts
Options:

1) hint

2) luxuries

3) support

4) colloquial

Correct Answer: luxuries
Candidate Answer: colloquial

QID : 175 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To clear the decks



Options:

1) throw the challenge

2) talk boastfully

3) to remove obstructions
4) control one's anger

Correct Answer: to remove obstructions
Candidate Answer: to remove obstructions

QID : 176 - Improve the bracketed part of the sentence.

The red and (the white rose) looks beautiful.
Options:

1) white rose

2) a white rose

3) an white rose

4) No improvement

Correct Answer: white rose
Candidate Answer: white rose

QID : 177 - Improve the bracketed part of the sentence.

| (have seen) him last year.
Options:

1) had seen

2) am seeing

3) saw

4) No improvement

Correct Answer: saw
Candidate Answer: had seen

QID : 178 - Improve the bracketed part of the sentence.

Shashank appealed to the judge (for his release) from jail.
Options:

1) of his release

2) from his release

3) his release

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

QID : 179 - Improve the bracketed part of the sentence.

Rohan has no acquaintance (from Sourabh).
Options:

1) of

2) on

3) with

4) No improvement
Correct Answer: with

Candidate Answer: with

QID : 180 - Improve the bracketed part of the sentence.

His mother has been ill (for) five days ago.
Options:

1) since

2) of

3) from

4) No improvement

Correct Answer: since
Candidate Answer: from

QID : 181 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Shamelessly rude

Options:

1) imbecile

2) impudent

3) infallible

4) invincible

Correct Answer: impudent
Candidate Answer: impudent

QID : 182 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A place for invalids and convalescents
Options:

1) hermit

2) vacuous

3) sanatorium

4) dormitory

Correct Answer: sanatorium



Candidate Answer: [ NOT ANSWERED |

QID : 183 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A person who is fond of fighting
Options:

1) bellicose

2) sinecure

3) deserter

4) pedant

Correct Answer: bellicose
Candidate Answer: [ NOT ANSWERED ]

QID : 184 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Story told to illustrate a moral or spiritual truth
Options:

1) nubile

2) elegy

3) parable

4) ode

Correct Answer: parable

Candidate Answer: [ NOT ANSWERED |

QID : 185 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

The policy of extending a country's empire and influence
Options:
1) debauchery

2) parchment
3) denigration {

4) imperialism
Vs N —
QID : 186 - In the following question, four words are given out of which one word is incorrectly speft. SeIe&}th"e’ incorrectly spelt word.

Correct Answer: imperialism g
Candidate Answer: imperialism

Options:

1) mentering P 4

2) beginning

3) challenging

4) inviting

Correct Answer: mentering
Candidate Answer: mentering

QID : 187 - In the following question, four words are given out of
Options:

1) pleasant

2) maximum

3) homorous

4) inferior

Correct Answer: homorous
Candidate Answer: homorous

correctly spelt. Select the incorrectly spelt word.

QID : 188 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) frequent

2) furioes

3) ferocious

4) fabulous

Correct Answer: furioes

Candidate Answer: furioes

QID : 189 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) apparantly

2) aggressive

3) ambassador

4) attention

Correct Answer: apparantly

Candidate Answer: apparantly

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) mercenary

2) magnanimus

3) wakeful

4) melancholy

Correct Answer: magnanimus

Candidate Answer: magnanimus



QID : 191 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Life priorities and are never going to reduce. But among all of them, make some time for the well being of the environment you live in. To save our
environment, life changing movement, is required. If anything is required, that is will power, honest and some small initiatives. Save our environment by
being a responsible citizen. Teach your child and others to save water. Do not waste water. It's a very element of our environment.

Life priorities and
Options:

1) dreams

2) ambitions

3) passions

4) necessities
Correct Answer: necessities
Candidate Answer: ambitions

are never going

QID : 192 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Life priorities and are never going to reduce. But among all of them, make some time for the well being of the environment you live in. To save our
environment, life changing movement, is required. If anything is required, that is will power, honest and some small initiatives. Save our environment by
being a responsible citizen. Teach your child and others to save water. Do not waste water. It's a very element of our environment.

make some time for the well being of the environment
Options:

1) ensuring

2) resulting

3) developing

4) enlarging

Correct Answer: ensuring

Candidate Answer: ensuring

QID : 193 - In the following passage some of the words have been left out. Read the passage carefully and seleet the correct answer for the given blank out of the
four alternatives. /’ N
Life priorities and are never going to reduce. But among all of them, make some time for theﬁ\well beil}g of the environment you live in. To save our
environment, life changing movement, is required. If anything is required, that is will power, honest,_“%.._afid some small initiatives. Save our environment by
being a responsible citizen. Teach your child and others to save water. Do not waste water. It's a \fery < element of our environment.

E

V-

save our environment,
Options:

1) some

2) huge

3) no

4) sufficient

Correct Answer: no

Candidate Answer: some

life changing movement X 4

QID : 194 - In the following passage some of the
four alternatives.

the passage carefully and select the correct answer for the given blank out of the

Life priorities and are never going to reduce’
environment, life changing movement, is requi
being a responsible citizen. Teach your child and others

em, make some time for the well being of the environment you live in. To save our
quired, that is will power, honest and some small initiatives. Save our environment by
ot waste water. It's a very element of our environment.

that is will power honest and some small initiatives

Options:

1) assurance

2) factor

3) working

4) inclination

Correct Answer: inclination

Candidate Answer: working

QID : 195 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Life priorities and are never going to reduce. But among all of them, make some time for the well being of the environment you live in. To save our
environment, life changing movement, is required. If anything is required, that is will power, honest and some small initiatives. Save our environment by
being a responsible citizen. Teach your child and others to save water. Do not waste water. It's a very element of our environment.

It's a very element of our environment.

Options:

1) contradictory

2) precious

3) healthy

4) bulky

Correct Answer: precious
Candidate Answer: precious




QID : 196 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Culture is defined as a people's way of life. It entails how they dress, how they speak, the type of food they eat, the manner in which they worship, and their art among
many other things.

Indian culture, therefore, is the Indians' way of life. Because of the population diversity, there is immense variety in Indian culture. The Indian culture is a blend of
various cultures belonging to a diverse religion, castes; regions follow their own tradition and culture.

Indian Culture is one of the oldest cultures in the world. India had an urban civilization even during the Bronze age. The Indus Valley Civilization (Harappan
Civilization) dates back to 3300 BC — 1300 BC.

Distinct cultures different from each other co-exist together in a single country. Thus, in India, there is unity amidst vast cultural diversity. The way people live in India
is reflected in its culture.

Unity in Diversity: India is a land of unity in diversity where people of different sects, caste and religion live together. India is also called the land of unity in diversity as
different groups of people co-operate with each other to live in a single society. Unity in diversity has also become the strength of India.

Secularism: The word secularism means equality, impartiality, etc. towards all religion. India is a secular country, which means, equal treatment of all the religions
present in India.

Traditions: traditional cultural values Gestures

« Touching feet of elders: Indian tradition has rich cultural values. In India, younger show great respect to their elders. They touch the feet of their elders daily after
waking up and especially on the festive occasions or before starting an important work.

+ Namaste: The gesture of the Namaste greeting is also part of the Indian culture. People greet each other by saying "Namaste" while joining their hands. "Namaste"
means "Hello". (Also read, the meaning of Namaste here.)

+ Most Indians have a habit of shaking their heads while talking.

If I am a cultural, well-behaved Indian, what won't | do?

Options:

1) Touch the feets of the elders.

2) Join my hands while doing 'Namaste'.

3) Wake up early in the morning, especially on the festive occasions.

4) Shake my head as a habit while talking.

Correct Answer: Wake up early in the morning, especially on the festive occasions.

Candidate Answer: Wake up early in the morning, especially on the festive occasions.

QID : 197 - A passage is given with five questions following it. Read the passage carefully and select the best ans»{er to each question out of the given four
alternatives.

1
Culture is defined as a people's way of life. It entails how they dress, how they speak, the type of food they eat; the mannerin which they worship, and their art among
many other things.
Indian culture, therefore, is the Indians' way of life. Because of the population diversity, there is immense 6ar|ety in pdlan culture. The Indian culture is a blend of
various cultures belonging to a diverse religion, castes; regions follow their own tradition and culture, A
Indian Culture is one of the oldest cultures in the world. India had an urban civilization even duringéthe qunze age The Indus Valley Civilization (Harappan
Civilization) dates back to 3300 BC - 1300 BC.
Distinct cultures different from each other co-exist together in a single country. Thus, in Indla the?e is unlbf amidst vast cultural diversity. The way people live in India
is reflected in its culture.
Unity in Diversity: India is a land of unity in diversity where people of different sec
different groups of people co-operate with each other to live in a single society.
Secularism: The word secularism means equality, impartiality, etc. towards all reli
present in India.
Traditions: traditional cultural values Gestures

« Touching feet of elders: Indian tradition has rich cultural values. In India
waking up and especially on the festive occasions or before starting an i
+ Namaste: The gesture of the Namaste greeting is also part of ti
means "Hello". (Also read, the meaning of Namaste here.
+ Most Indians have a habit of shaking their he

Ci ste and rellglon live together. India is also called the land of unity in diversity as
Iversity has also become the strength of India.
is.a@Secular country, which means, equal treatment of all the religions

great respect to their elders. They touch the feet of their elders daily after

eopie greet each other by saying "Namaste" while joining their hands. "Namaste"

Why is India called a unity in diversity?
Options:

1) Different groups of people co-operate with each oth
2) People of different sects, caste and religion live togeth
3) It is strength of India.

4) All of these

Correct Answer: All of these
Candidate Answer: All of these

QID : 198 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Culture is defined as a people's way of life. It entails how they dress, how they speak, the type of food they eat, the manner in which they worship, and their art among
many other things.

Indian culture, therefore, is the Indians' way of life. Because of the population diversity, there is immense variety in Indian culture. The Indian culture is a blend of
various cultures belonging to a diverse religion, castes; regions follow their own tradition and culture.

Indian Culture is one of the oldest cultures in the world. India had an urban civilization even during the Bronze age. The Indus Valley Civilization (Harappan
Civilization) dates back to 3300 BC — 1300 BC.

Distinct cultures different from each other co-exist together in a single country. Thus, in India, there is unity amidst vast cultural diversity. The way people live in India
is reflected in its culture.

Unity in Diversity: India is a land of unity in diversity where people of different sects, caste and religion live together. India is also called the land of unity in diversity as
different groups of people co-operate with each other to live in a single society. Unity in diversity has also become the strength of India.

Secularism: The word secularism means equality, impartiality, etc. towards all religion. India is a secular country, which means, equal treatment of all the religions
present in India.

Traditions: traditional cultural values Gestures

* Touching feet of elders: Indian tradition has rich cultural values. In India, younger show great respect to their elders. They touch the feet of their elders daily after
waking up and especially on the festive occasions or before starting an important work.

» Namaste: The gesture of the Namaste greeting is also part of the Indian culture. People greet each other by saying "Namaste" while joining their hands. "Namaste"
means "Hello". (Also read, the meaning of Namaste here.)

» Most Indians have a habit of shaking their heads while talking.

Which of the following is not true according to the passage?
Options:

1) Culture entails how people dress.

2) Culture entails how people speak.

3) Culture entails how people worship.

4) Culture entails what drawing people draw.



Correct Answer: Culture entails what drawing people draw.
Candidate Answer: Culture entails what drawing people draw.

QID : 199 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Culture is defined as a people's way of life. It entails how they dress, how they speak, the type of food they eat, the manner in which they worship, and their art among
many other things.

Indian culture, therefore, is the Indians' way of life. Because of the population diversity, there is immense variety in Indian culture. The Indian culture is a blend of
various cultures belonging to a diverse religion, castes; regions follow their own tradition and culture.

Indian Culture is one of the oldest cultures in the world. India had an urban civilization even during the Bronze age. The Indus Valley Civilization (Harappan
Civilization) dates back to 3300 BC - 1300 BC.

Distinct cultures different from each other co-exist together in a single country. Thus, in India, there is unity amidst vast cultural diversity. The way people live in India
is reflected in its culture.

Unity in Diversity: India is a land of unity in diversity where people of different sects, caste and religion live together. India is also called the land of unity in diversity as
different groups of people co-operate with each other to live in a single society. Unity in diversity has also become the strength of India.

Secularism: The word secularism means equality, impartiality, etc. towards all religion. India is a secular country, which means, equal treatment of all the religions
present in India.

Traditions: traditional cultural values Gestures

« Touching feet of elders: Indian tradition has rich cultural values. In India, younger show great respect to their elders. They touch the feet of their elders daily after
waking up and especially on the festive occasions or before starting an important work.

» Namaste: The gesture of the Namaste greeting is also part of the Indian culture. People greet each other by saying "Namaste" while joining their hands. "Namaste"
means "Hello". (Also read, the meaning of Namaste here.)

» Most Indians have a habit of shaking their heads while talking.

Based on the above passage, which of the following is NOT true about Indian culture?
Options:

1) Indian culture dates back to 3300 BC - 1300 BC.

2) Envy religion follows their own tradition and customs.

3) Every religion is treated equally in India.

4) In India there is unity in diversity.

Correct Answer: Envy religion follows their own tradition and customs. f

Candidate Answer: Indian culture dates back to 3300 BC - 1300 BC. ;

QID : 200 - A passage is given with five questions following it. Read the passage carefully and select the fest a r to each question out of the given four
alternatives. t "3

\
Culture is defined as a people's way of life. It entails how they dress, how they speak, the type of foéd they\}at tH€ manner in which they worship, and their art among
many other things.
Indian culture, therefore, is the Indians' way of life. Because of the population diversity, there is immense v;rlety in Indian culture. The Indian culture is a blend of
various cultures belonging to a diverse religion, castes; regions follow their own tradjtion an@d cumq?e
Indian Culture is one of the oldest cultures in the world. India had an urban civilizatio evén dur|n§gthe Bronze age. The Indus Valley Civilization (Harappan
Civilization) dates back to 3300 BC — 1300 BC.
Distinct cultures different from each other co-exist together in a single country. Th
is reflected in its culture.
Unity in Diversity: India is a land of unity in diversity where people of dlfferent
dlfferent groups of people co- operate with each otherto Ilve ina smgle SO

India, there is unity amidst vast cultural diversity. The way people live in India

d religion live together. India is also called the land of unity in diversity as
iversity has also become the strength of India.

dia is a secular country, which means, equal treatment of all the religions
present in India.

Traditions: traditional cultural values Gestures
+ Touching feet of elders: Indian tradition has ric er show great respect to their elders. They touch the feet of their elders daily after
waking up and especially on the festive occa i rtant work.

» Namaste: The gesture of the Namaste greétin Indianculture. People greet each other by saying "Namaste" while joining their hands. "Namaste"
means "Hello". (Also read, the meaning of Namast
+ Most Indians have a habit of shaking their heads w

What is the reason behind the immense variety in Indian ¢:
Options:

1) Blend of various cultures

2) Population diversity

3) Cultural diversity

4) Secularism

Correct Answer: Population diversity

Candidate Answer: Blend of various cultures





